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Lesson 7.6 — Even More Trig Proof Problems!

sin(4t)-sin(2t)

cos(4t)+cos(2t) = tant
2 sin(2t) cos(2t)—sin(2t) sin(2t)
(2 cosZ(2t)—1)+cos(2t) cos(2t)+1
sin(2t)[2 cos(2t)—-1] 2 sin(t)cos(t)
2 cos2(2t)+cos(2t)—1 2 cos?(t)—-1+1
sin(2t)[2 cos(2t)—1] 2 sin(t)cos(t)
2 cos2(2t)+2 cos(2t)—cos(2t)—1 2 cos?(t)

sin(2t)[2 cos(2t)—1]
2 cos(2t)[ cos(2t)+1]—1[cos(2t)+1]

tan(t)

sin(2t)[2 cos(2t)—-1]
(2 cos(2t)—1)[cos(2t)+1]

sin(2x)

——————— =sinx+cosx+1
sinx+cosx—1

sin(2x) sinx + cosx +1

sinx+cosx—1 sinx+cosx+1

sin(2x) (sinx + cosx + 1)
sinx (sinx + cosx + 1) + cosx (sinx + cosx + 1) — 1(sinx + cosx + 1)

sin(2x) (sinx + cosx + 1)
(sin? x + sinx cos x + sinx) + (sinx cosx + cos? x + cosx) + (—sinx — cosx — 1)

sin(2x) (sinx + cosx + 1)

(sin? x + cos? x + —1) + (sinx cos x + sinx cos x) + (sinx + — sinx + cos x — cos x)

sin(2x) (sinx + cosx + 1)
2 sinx cosx

sinx +cosx + 1
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sin 6+sin(36)
cos 8+cos(360)

= tan(26)

(sin20 cos 8 + cos 20 sin @) + sin O
(cos 26 cos @ — sin 260 sin@) + cos b

(sin26 cos @ + cos 20 sinf) + sin 6
(cos 26 cos@ — 2 sin6f cosBsinf) + cos O

(sin26 cos O + cos 20 sin @) + sin O
cos B (cos260 — 2sin?6 + 1)

(sin26 cos @ + cos 20 sin @) + sin 6
cos @ (cos 20 — 2(% (1 —cos20) + 1)

(sin 26 cos 0 + cos 260 sin @) + sin O
cosB (cos20 —1+cos20+ 1)

(sin26 cos 8 + cos 260 sin@) + sin 6
cos 6 (2cos 20)

(sin20 cos @ + (2 cos?6 — 1) sinf + sin
cos 0 (2cos 26)

sin 26 cos 8 + 2 cos? @sinf — sin @ + sin O
cos 6 (2cos 20)

sin 26 cos 8 + 2 cos? O sin @
cos 0 (2cos 26)

sin 26 cos 8 + 2 cos? 6 sin 6
cos 0 (2cos 26)

sin260 + 2 cos 6 sin 6
2cos 26

sin 26 + sin 26
2cos 260

2sin 260
2cos 260

tan 260




